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उ�र कंुजी

 
           

1.                   
       ?


Which Harappan site located in India includes deposits of Hakra Ware that is typical of
settlement dating back before the early phases of Indus Valley Civilisation ?

Rakhi Garhi

2.       ( )           
           ?

 
Gautama Siddhartha (Gautama Buddha) is believed to have piously meditated at which
among the following places for six years before he went to Bodhgaya for the final
realization ?

Dungeshwari Cave 

3.          ?

 
Which among the following was the first capital of Harshavardhana ? 

Thanesar 

4.   _____    , , , ()     
            


_____ volume of Akbar Nama deals with Akbar’s administration, household, army,
revenue and the geography of his empire that is known as Ain-i Akbari.

Third

5. 1851 ,             “      
 ”      ?



In 1851, the Governor General Lord Dalhousie described which of the following

kingdom as “A cherry that will drop into our mouth one day” ?

Awadh
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6.            ? 

When Congress ministries resigned during the Indian National Movement ?

1939 

7. 1942                 
   ?

   

Who was sent to India in order to try and forge a compromise with Gandhiji and the 
Congress by Winston Churchill in 1942 ? 

Sir Stafford Cripps

8.     1944     (INA)         
  /     ?

 

Subhash Chadra Bose hoisted the INA flag at Moirang in 1944. In which of the 
following states/UTs that town is located now ? 

Manipur 

9.                    
 ?

  
Which of the following rivers was historically known as the Bantwal River in the 
south of Karnataka ? 

Netravati River 

10.                
                    ?

 

Indian Muslims were keen that the Khalifa be allowed to retain control over Muslim 
sacred places in the erstwhile Turkish Empire. This empire was also known by which of 
the following name ? 

Ottoman

11.    (I.N.C.)      (A.I.M.L.)   ________ 
                

 , 1916 

The Indian National Congress (I.N.C.) and the All India Muslim League (A.I.M.L) 
decided to come together for the cause of India’s struggle against the British through 
the famous ________. 

The Lucknow Pact, 1916 
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12.    ,                   
   ? 

   

 At some places ground water is stored between layers of hard rock below the water 
table. This is known by which name ? 

  Aquifer 

13.         /     ? 

   

 Milam glacier is located in which of the following states/UTs of India ? 

  Uttarakhand  

14.           ( ) ,      
     ? 

  - (  ) 
 Which of the following institutions, is India’s time keeper, i.e, it monitors India’s 

system of time ? 

  CSIR-NPL (CSIR-National Physical Laboratory) 

15.            ,      
? 

  83   2 
 The Thar Desert of India is the most densely populated desert in the world with what 

population density ? 

  83 people per km2
 

16.             ,    
-  (   )   ,       1 , 
2022    - ( )       
   ? 

   (  ) 

 To ensure that the benefits of GST are passed on to the consumers, the government 
established the National Anti-Profiteering Authority (NAA) but from 1st December, 
2022 all GST anti-profiteering complaints are dealt by which organisation ? 

  CCI (Competition Commission of India) 

17.      HYV   ,  “ ”     ? 

      (  ) 

 With reference to Green Revolution what is HYV Seeds, which are also called as 
“Miracle Seeds” ? 

  High Yield Variety 
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18.     (NIBM)   1969      ,   
  ,    , ,           
     ? 

      (RBI) 

 National Institute of Bank Management (NIBM) was established in 1969 by which of 
the following, in consultation with the Government of India, as an autonomous apex 
institution for research, training, education and consultancy in bank management ? 

  Reserve Bank of India (RBI) 

19. 11       ? 

 What was the period of 11th Five Year Plan ?  

  2007-2012 

20.      1991     ()      
    ? 

      

 Which of the following was not a part of the structural adjustment programs under the 
New Economic Policy (NEP) in 1991 ? 

  Balance of Payment Adjustment 

21. 13 , 1946     “  ( )”     
  ? 

    

 “Objective Resolution” was introduced in the Constituent Assembly on 13 December, 
1946 by whom ? 

  Jawaharlal Nehru 

22.                 ? 

   359 

 The Fundamental Rights can also be suspended during the Emergency under which 
article ? 

  Article 359  

23.              
  ? 

     

 The Communal Award coined by the British Prime Minister Ramsay MacDonald was 
the result of which of the following ? 

  2nd Round Table Conference 
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24.              ? 

   167 

 Which Article of the Indian Constitution defines the duties of the Chief Minister ? 

  Article 167  

25. ‘         ’         
       ? 

  ..   

 Which committee was appointed to prepare a concept paper on ‘Revitalization of 
Panchayati Raj Institutions for Democracy and Development’ ? 

  L. M. Singhvi Committee 

26.    (cans)                ? 

   

 Food cans are coated with which of the following metals instead of zinc ? 

  Tin 

27.            CO2   ? 

    

 By releasing excessive dry powder of which chemical near the fire gives off  CO2 ? 

  Sodium Bicarbonate 

28.      /    ? 

     

 Lactometer works on which of the following principles/laws ? 

  Archimedes’ Principle 

29.     (CFL)              
   ? 

   
 Fluorescent tubes and CFLs contain vapour of which of the following metals that is 

toxic in nature ? 

  Mercury 

30.              ? 

   

 Sphygmomanometer is used to measure which of the following ? 

  Blood Pressure 

31. (–27)  (–16) + (–27)  (–14)     

 The value of (–27)  (–16) + (–27)  (–14) is 

  810 
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32.      25%                 
        ? 

 The price of Desi Ghee has increased by 25%. By what percent should a family reduce 
the consumption of Desi Ghee so as not to increase the expenditure in this account ? 

  20% 

33.    {(341)491  (625)317  (6374)1793}         ? 

 Which of the following is the unit digit in the product of {(341)491  (625)317  

(6374)1793} ? 

  0 

34.  12 + 22 + 32 + ….. + 102 = 385,         32 + 62 + 92 + ….. + 302   

 If 12 + 22 + 32 + ….. + 102 = 385, then  32 + 62 + 92 + ….. + 302 is equal to 

  3465 

35.  (0.04)2 ÷ (0.008)  (0.2)6 = (0.2)Y,  Y    

 If (0.04)2 ÷ (0.008)  (0.2)6 = (0.2)Y, then find Y. 

  7 

36. ‘’   -    

   +  

37.            ? 

  , ,  

38.            -   ? 

  - 

 (B)  -   -  
 

39. ‘   ’           ? 

     

40. ‘ ’      ? 

    

41. Fill in the blank with correct preposition : 

 I have never looked on a face that was so devoid ____ feeling. 

  of 
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42. Give synonym of underlined word : 

 He sat there disparaging about the legal system. 

  Criticizing  

43. Give one word for :  

 The original inhabitants of a country. 

  Aborigines 

Read the following paragraph and answer the following questions : (Q. 44 and 45) 

 In the United States someone legally becomes an adult when they turn 18 years old. At 
18, U.S. citizens can vote. They can also serve in the military and go fight in wars for the 
country. An 18-year old can also buy cigarettes and other tobacco products, but 18-year-olds 
cannot buy alcoholic beverages. People in the U.S. need to wait until they are 21 to be able to 
do that. 

 At the age of 18, people can legally live on their own, work, and get married. However, 
turning 18 doesn’t mean everyone is ready to take on adult responsibilities. At the age of 18, 
most people are just graduating from high school. Many will go to college. Some young 
people choose to go to college far from their homes and live in dormitories. Others pick a 
college close to home and stay with their parents to save money. Yet others will choose to 
live on their own. Legally, a parent does not have to provide for their child when the child 
turns 18. 

44. In U.S., what is the minimum age required to join military ? 
  18 

45. Which is correct from the followings with reference to U.S. ? 

  Children may live with their parents even after 18. 

46.                  ? 

 If the words are arranged according to the dictionary, what will come in the second 
place from the last ? 

 1. Spastically 2. Spasmatic 

 3. Spasticity 4. Spastic 

 5. Spasmodical 

  Spastically 

47.     ,        , P1    9     P2   
 12     P1  P2       P1  P3, P4          
      

       

 In a row of Pigeons, all are facing north, P1 is 9th from the left end and P2 is 12th from 
the right end. There are three peacocks between P1 and P2. P1 and P3 are equidistant to 
P4. Find how many Pigeons are there in the row. 

  Can’t be determined 
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48.    , PERMUTATION  IBKFRMXMFLG        
PUBLICSECTOR     ? 

 In a code language, PERMUTATION is written as IBKFRMXMFLG. How will 
PUBLICSECTOR be written as in that language ? 

  IRUEFVLBVMLK 

49.    8        24   10           
 1           ? 

  12  48  

 A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours. What will be the 
true time when the clock indicates 1 p.m. on the following day ? 

  48 min. past 12 

50.     I  II                  
                      
                     
     

  : 

 I.                   
     

 II.                    
    

    I  II        
 In the question two statements I and II are given. These statements may be either 

independent causes or may be effects of independent causes or a common cause. One 
of these statements may be the effect of the other statement. Read both the statements 
and decide which of the following answer choice correctly depicts the relationship 
between these two statements. 

 Statements : 

 I. The Government has decided to hold a single entrance test for admission to all the 
medical colleges in India. 

 II. The State Government has debarred students from other States to apply for the 
seats in the medical colleges in the State. 

  Both the statements I and II are effects of some common cause.  

51.   ,      ()       
                 ? 

 Recently, National Commission for Protection of Child Rights (NCPCR) has developed which 
among the following applications for Seamless Inspection for real time monitoring of the Child 
Care Institutions ? 

  MASI 
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52.   ,            ,  
            28    
            ? 

     () 

 Recently, the leaders of India and which among the following countries committed to 
enhance cooperation on climate ambition, decarbonization and clean energy, and work 
together to have meaningful outcomes from the 28th Session of the UNFCCC 
Conference of Parties ? 

  United Arab Emirates (UAE) 

53. _____   2020               
-         -    
(NIOS)     (MOU)     

   (ISLRTC) 

 _______ signed MOU with NIOS to share expertise and resources, as well as co-
develop quality learning resources in Indian Sign Language on the occasion of 3rd year 
of NEP 2020 celebrations. 

  ISLRTC 

54.                  NAPS 
(   )  DBT (  )    ? 

     

 Who among the following recently launched DBT (Direct Benefit Transfer) in NAPS 
(National Apprenticeship Promotion Scheme) to strengthen apprenticeship ecosystem 
in India ? 

  Shri Dharmendra Pradhan  

55. -                 
  ? 

   

 Which among the following countries declared National Emergency due to spike in 
Guillain-Barre syndrome cases ? 

  Peru 

56.                 
  ? 

    ,  

 Which among the following railway station from India got UNESCO’s Asia Pacific 
Cultural Heritage Award ? 

  Byculla Railway Station, Maharashtra 
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57.    2030     ____   15%        

    

 The Government of India has set target to raise the share of ____ in the energy mix to 
15% by 2030. 

  Natural Gas 

58.      ,      -       
       UDAN      -  ? 

   
 Recently Minister of Civil Aviation, Shri Jyotiraditya Scindia has inaugurated Utkela 

Airport that is a regional airport under the UDAN scheme in which of the following 
states of India ? 

  Odisha 

59.              “  ”  
  ? 

   
 Which of the following states of U.S.A. has declared month of October as “Hindu 

Heritage Month” ? 

  Georgia 

60.          “ ”        
      ? 

   
 Recently which of the following countries has designed and manufactured an 

autonomous robotic undersea warfare vehicle named “Ghost Shark” ? 

  Australia 

61.             “  ”     
   

    
 Give name of the popular hill fort located in Sahyadri Mountain Range that is known as 

“The Eagle’s Nest”. 

  Torna Fort 

62.      ,            
                ? 

  15  

 The Tenzing Norgay National Adventure Award is the highest national recognition for 
outstanding achievements in the field of adventure on land, sea and air. What is the cash prize 
amount for this award ? 

  15 Lakh 
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63.  (  )          ,   

      ? 

   

 Nitisara (The Elements of Polity) which contains the earlier foundational root text of 

Kautilya’s Arthshastra was written by whom of the following ? 

  Kamandaka 

64.                  

   ? 

  13  

 Which among the following days is celebrated as the International Day for Natural Disaster Risk 

Reduction every year ? 

  13th October 

65.                   

     /     ? 

    

 Tamia Hill station that provides stunning view of the horseshoe-shaped Patalkot Valley 

is situated in which of the following States/UTs of India ? 

  Madhya Pradesh 

66.             ()  ? 

 India became a sectoral dialogue partner of ASEAN in which of the following years ? 

  1992 

67.         : 

 (i)  – (a)  

 (ii)  – (b)  

 (iii)   – (c)  

 (iv)  – (d)  

 Match the following countries with their capitals : 

 (i) Zambia – (a) Havana 

 (ii) Cuba – (b) Manama 

 (iii)  Rwanda – (c) Lusaka 

 (iv) Bahrain – (d) Kigali 

  (i)-(c), (ii)-(a), (iii)-(d), (iv)-(b) 
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68.                     
       ? 

   
 Jhoti Chita and Muruja are white art to create beautiful patterns on the floor and walls. 

It is an art form of which of the following states in India ? 
  Odisha 

69.        10 , 1802         
                    ? 

   -  

 The work of the Great Trigonometrical Survey of India commenced at Madras on April 
10, 1802 when a baseline measurement related to the Madras longitude was made. 
Currently that Madras Observatory is known by which name ? 

  Indian Institute of Astrophysics  

70.         DBOT (, ,   )  
   ? 

   ,   

 Which among the following is India’s first DBOT (Design, Build, Operate and 
Transfer) model outdoor stadium ? 

  The Sports Hub, Thiruvananthapuram  

           (. 71-75) 

   ,  ,               
              ,            
                   ,  -    
                           , 
                       
                ,      
                    
                       
 ,   ,                ?   
   -    ,              
                     
                         , 
      ?  -       ,  ,       
     ‘’                   
,          , ,     ,   ,    
    
 

71.        ? 
                   

    
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72.         ? 
                   

73.       ? 
         ,  ,       -  

  ,          

74. ‘  ,   ’         ? 
         

75. ‘’      ? 
     

          : (. 76-80) 

                   
            ,       -   
                     
     , ,      ,          
    ,               

       , ,            
         -  ,    ‘’     
 , ,                 
                    
            -    
   

 -    , -           -

                      
                        
                         
                    , 
-     , , , -          
    

                     
     ,              
,                    
      

76.          ? 
    , ,         
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77.           ? 

  , ,                   

78.              ? 

                     

79. ,          ? 

  ,     

80. ‘’        ? 

    

                (. 81-85) 

                       
                  ( )      

  ( )                 
( )  (1  = 10 )  

Study the following line chart carefully and answer the questions given below : (Q. 81-85) 

 Below the pair of five trains are given. The sum of length of each pair and the time 
taken by trains in each pair to cross each other when travelling in opposite direction is given 
in the line graph. 

 Length (in decameter) and Time (in sec.) taken to cross each other when travelling to 
opposite direction. (1 decameter = 10 meter) 

 

81.   B   D                   
      

  9.78  

 Find the approximate time taken by train B and train D to cross each other if both are 
travelling in opposite direction. 

  9.78 seconds 
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82.  A   C                     

  86  

 Find the time taken by train A to pass train C if they are travelling in the same 

direction. 

  86 seconds 

83.   E       50        D     

          

  91.82  

 If train E crosses a platform of certain length in 50 seconds, then find the approximate 

time taken by train D to cross the same platform. 

  91.82 seconds 

84.  A           D           A, 

 D  2           297      ,    

         

  529.2  

 Train A was travelling from Patna to Delhi while train D was travelling from Delhi to 

Patna. Train A started after 2 hours of train D. If both trains meet at a distance of 297 

km from Delhi, then find the approximate distance between Patna to Delhi. 

  529.2 km 

85.  B   C  X   Y     414   ,        

      Y        C  ()   ,  B 

  X    ?  

  5.96  

 Train B and train C were travelling from station X to station Y which is 414 km apart. 

If both reached the station Y at the same time then find after how much time 

(approximately) of train C, would train B leaved station X ? 

  5.96 hr 
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               : (. 86-90) 

             (% )       : 

Study the following pie chart carefully and answer the questions given below : (Q. 86-90) 

 The following pie chart gives the information about the distribution of population (in %) of 

India in different geographical zones : 

 

86.         126.5  ,         

   ? ( ) 

 If the total population of east zone of India is 126.5 million, then what is the 

approximate total population of north zone of India ? (in million) 

  80.96 

87.                  ? 

 The total population of north zone of India is how much percentage less than that of 
the east zone ? 

  36% 

88.        13 : 12           9 : 

7                   ? 

 In India, the ratio of males to females is 13 : 12 and in central zone, the ratio of males to 

females is 9 : 7. The number of females in central zone is what percentage of the total 

number of females of India ? 

  18 
11
48

 

89.      125  ,           

 ( )   ? 

 If the total population of India is 125 crores, then what is the approximate sum of the 

population of south zone and that of west zone in crores ? 

  48.75 
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90.       50%           10%   
          50  ,       
   ? 

  500  

 50% of the total population of west zone are males which is equal to 10% of the total 
population of males in India and if the total population of females in west zone is 50 
million, then what is the total population of males in India ? 

  500 million 

               : (. 91-95) 

            %       
         

Study the following table chart carefully and answer the questions given below : (Q. 91-95) 

 The following table shows the discount % given by different stores on different books. 
The marked price of every book on all stores are same. 

/Books 
/Stores 

1 2 3 4 

A 14%  25% 18% 

B 16% 14% 10%  

C 12%   10% 

D  6% 9%  

91.  2  3   B     ` 594    2   B    
  ? 

 The average selling price of book B in store 2 and 3 is `  594. What is the selling price 
of book B in store 2 ? 

  ` 580.5 

92.  1   A     ̀395    2  3       ̀36.825 , 
 2       ? 

 The selling price of book A in store 1 is ` 395 and difference of selling price in store 2 
and 3 is ` 36.825. What is the approx. discount percentage in store 2 ? 

  16.98% 

93.  A    1  10%          3     
 /    ? (     ) 

 By selling book A store 1 makes a profit of 10%. What is the approximate profit/loss percent 
incurred by store 3 on the same book ? (Round off to nearest integer) 

  4% 
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94.  2  3   D     ` 1,480    D      ? 

 The average selling price of book D in store 2 and 3 is ` 1,480. What is the marked 

price of book D ? 

  ` 1,600 

95.  1  2   C      3 ∶ 2     1     ̀220 ,  

 2       ? 

 Ratio of discount percentage on book C in store 1 and 2 is 3 ∶ 2. If selling price in store 

1 is ` 220, then what is the approx. selling price in store 2 ? 

  ` 230 

               (. 96-100) 

   5    3     (P),   (E)     

(W)     (` )   :  

Study the following information carefully and answer the questions given below : (Q. 96-100) 

 The following table shows the amount of bills (in `) of 3 families, Phone bills (P), Electricity 

bills (E) and Water bills (W) for 5 months : 

/ 

Month 

 X / 

Family X 

 Y / 

Family Y 

 Z / 

Family Z 
/ 

Total 
P E W P E W P E W 

/ 

Jan. 
1400 1000 550 1000  800 1500 2500 1000 11250 

/ 

Feb. 
1400 1100 600 1200 1600 500 1350  950 10100 

/ 

March 
1500 600 300 1250 400  1200 2400 250 8500 

/ 

April 
2500 950 1500 1600 500 1500  1250 350 11400 

/ 

May 
   1100 1500 1200 1400 1150 800 9450 

/ 

Total 
8050 4100       3350 50700 

96.                    

          ? 

 What is the ratio between the total amount paid on Phone bills and Electricity bills for the 

family who is paying the highest amount in January on Electricity ? 

  335 : 435 
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97.  ‘X’            ‘Y’      

      /  ? 

The average amount paid on Water bills by family ‘X’ is how much more/less than the

average amount paid by family ‘Y’ on Water bills ? 

210

98.  ‘Y’        ,          

        ? 

The amount paid on Phone bills by family ‘Y’ is approximately more than what percent

by its amount paid on Electricity bills over the given months ? 

12% 

99.              ‘X’    ,  

           12%, 16%  25%          

             

Given that the amount paid on Phone bill, Electricity bill and Water bill by family ‘X’

in the month of June was increased by 12%, 16% and 25% as per the data given for the

month of May. Find its total amount paid on all the three bills in the month of June.

2672 

100.                   

               ? 

What is the difference between the total amount paid on Electricity bills by all three families

in the month of February and the total amount paid on Phone bills by all three families in the

month of April ? 

1250 
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